| dE/dx

estimator 1 |

| dE/dx estimator 2 |

h_dedx_estim1 h_dedx_estim2
F Entries 817 - Entries 817
C Mean 3.249 0.45 [ Mean 2.976
I Std De 0.3296 Std De 0.3174
0.35[ i : V: : [ : V: : [
C "h_dedx_estiml 0.4 “h_dedx_estmz
0 3‘_ __________________ Entries 586 Entries 586
"~ Mean 3.257 0.35 Mean 2.984
- Std Dev_ 0.3514 Std Dev 0.3321
SIS KN (O T SO SOST JOUUN DUUUL OO ] E E E ]
0'25: h_i dedx estiml 0.3 h_dedx_estim2
- Entries 593 Entries 593
0.2F i b Mean 3.249 0.25 Mean 2.977
T Std Dev 0 3408 Std Dev 0 3235
- - . [ 0 2F e b ]
015:_ ................. h dedx estim1 0.2 h ded>< estim2
r Entries 591 Entries 591
- Mean 3.249 0.15 Mean 2.977
0_1'_ .................................... Std Dev_ 0.3413 Std Dev_ _0.324
- : : : 0.1 : : :
005 :_ """""""""""""""""""""""""""""""""""""" O 05
o O‘....I....I..FI....: ...J.....!....!....!.... o 0 ; : .
B LAD iR | B 14 g :
@ r S TR @ o ;
e R 1 1 A O A A S 1.2 : : t
o ﬁ’ﬂ 122 I8N S | ORI 5 9000 B O
0O 1 2 3 4 5 6 7 8 9 10 O 1 2 3 4 5 6 7 8 9 10
dE/dx, harm2 dE/dx, trunc40
—a— DOQM_VOO0I_ROU000000I__Global__CMSSW_ckiPU50__RECO
—— DQM__ VOOOl ROOOOOOOOl Global CMSSW mkFitPU50__ RECO
—— DOQM_ VOOOl ROOOOOOOOl Global CMSSW mkFltPUSOLOWPtQuad RECO
—— DQM VOOOl ROOOOOOOOl Global CMSSW mkFltPUSOLOWPtQuad nOBde RECO | satl
0.16¢ . —TENTes BI7 ; ; ; ; ; [ ENTes 817
: Mean 11.83 5 Mean 0.8274
- Std Dev 3.04 [ O BF--ieeeeeeeieeeees R ERCEELEDHD Std Dev 1.046
O0.14F it b FEEEEEEEE FEEEEEEEE I : : : I
: h_dedx_nom1l : h_dedx_satl
I Entries 586 : | Entries 586
O I e Mean 1103 Akl P U U T :.| Mean 0.7713
: Std Dev 2.848 : Std Dev 1.005
" : : ] :
O | R S h_dedx_nom1 : h dedx_ sail
Entries 593 | ol b Entries 593
0.08F - Hf- |-t b Mean 10.97 : Mean 0.7268
' - Std Dev 2.829 : Std Dev 0.9871
- ] : ' ]
R | S | T S S h dedx_| noml : h _dedx_ satl
006 Entries R I V74 ] o o o . 7’| Entries 591
: Mean 10.97 : Mean 0.7242
004 _____________________________________ Std D:ev 2.8:2 Std D:ev : 0.987?%
002 --------------------------------------------------------
L N T TS Y T B I T S B T S P
o 0 o : : : : : : : :
= L2y i b b e e =
I - I e
(nd 11 R [n'd
0.8 it fldl
06 .......................................................

10" 20 30 40 50 60 70 80

dE/dx number of measurements

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


